
4,11 dm      =       ..............     mm 2 mm      =       ..............     dm

95 dm      =       ..............     mm 74 dm      =       ..............     mm

9,19 mm      =       ..............     dm 6,7 dm      =       ..............     mm

9,4 dm      =       ..............     mm 82,57 dm      =       ..............     mm

8,25 dm      =       ..............     mm 1,1 dm      =       ..............     mm

8,17 mm      =       ..............     dm 44,6 dm      =       ..............     mm

2 mm      =       ..............     dm 50,31 dm      =       ..............     mm

10 dm      =       ..............     mm 6 dm      =       ..............     mm

2 mm      =       ..............     dm 92,7 dm      =       ..............     mm

8,8 dm      =       ..............     mm 10 dm      =       ..............     mm

48 dm      =       ..............     mm 0,64 mm      =       ..............     dm

11,8 dm      =       ..............     mm 35,7 dm      =       ..............     mm

6 mm      =       ..............     dm 3,9 mm      =       ..............     dm

96 dm      =       ..............     mm 60,9 mm      =       ..............     dm

8,46 dm      =       ..............     mm 9,9 mm      =       ..............     dm



4,11 dm      =     411 mm 2 mm      =     0,02 dm

95 dm      =     9500 mm 74 dm      =     7400 mm

9,19 mm      =     0,0919 dm 6,7 dm      =     670 mm

9,4 dm      =     940 mm 82,57 dm      =     8257 mm

8,25 dm      =     825 mm 1,1 dm      =     110 mm

8,17 mm      =     0,0817 dm 44,6 dm      =     4460 mm

2 mm      =     0,02 dm 50,31 dm      =     5031 mm

10 dm      =     1000 mm 6 dm      =     600 mm

2 mm      =     0,02 dm 92,7 dm      =     9270 mm

8,8 dm      =     880 mm 10 dm      =     1000 mm

48 dm      =     4800 mm 0,64 mm      =     0,0064 dm

11,8 dm      =     1180 mm 35,7 dm      =     3570 mm

6 mm      =     0,06 dm 3,9 mm      =     0,039 dm

96 dm      =     9600 mm 60,9 mm      =     0,609 dm

8,46 dm      =     846 mm 9,9 mm      =     0,099 dm


